Calculus I: Additional Review Integration Name
Evaluate the given indefinite integral:
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Evaluate the definite integral (non-calculator):
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Evaluate the definite integral (calculator may be used after integral is taken):
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Approximate the area bound by the curve and the x-axis in the given interval using right and
left end-point approximations with the given 7 value.
15. f(x)=3+/x [0,6]; n=20

Left: sum(seq((B + \/;)%,X,O,é - EEJ] = 27.398

10 10

Right: sum[sef][(3+\/i)%,x,0+i 6, 3 j] 28.133

10° '10

Average 27.398; 28133 .,

16. f(x)=2x*+5x-1 [2.1,4.3];

Left: sum(seq((sz +5x _1)2182 ,2.1,43— 2182 ZISZJ]: 77.449

Right: 5um£seq((2x +Bx - 1)2182, ,21+%,432182D 82.235

Average : 17449182235 15 o4,
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Find the exact area bound by the given function in the given interval. Sketch the graph and
shade the area you are finding:

17. £(x)=3x*—4x+1 [1 3] 18. f(x)=x*+3x—4 [0,2]
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Find A(x) given the following information:
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Given AX), find F(x):
21. F(x)=4JX. (t* -5t)dt
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F'(x) = ((4x2 ) -5(4x)) (8x)

22. F(x)= J tan(2x) dx
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F'(x)= tan(2cos(x2))<—sin(x2)(2x))—tan(2(3x))(3)



Find the average value of the given function on the given interval. Find the x value at which
the average value occurs:
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